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Learning Objective: 
	To be able to multiply decimals
	Name: 
	

	
	
	Date: 
	

	Do NOW Activity: 
[image: ]

	PRIOR KNOWLEDGE CHECK: 
1. I am able to multiply integers

	THE MAIN EVENT 

	WORKED EXAMPLE #1: 
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	PRACTICE #1:  
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	WORKED EXAMPLE #2:  
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	PRACTICE #2: 
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	PRACTICE #3:  
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Learning Objective: 
	To be able to divide decimals
	Name: 
	

	
	
	Date: 
	

	Do NOW Activity: 
[image: ]

	PRIOR KNOWLEDGE CHECK: 
1. I am able to divide integers 

	THE MAIN EVENT 

	WORKED EXAMPLE #1: 
[image: ]


	PRACTICE #1:  
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	WORKED EXAMPLE #2:  
[image: ]

	PRACTICE #2: 
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	PRACTICE #3:  
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Learning Objective: 
	
To be able to estimate answers to calculations that involve decimals
	Name: 
	

	
	
	Date: 
	

	Do NOW Activity: 
[image: ]

	PRIOR KNOWLEDGE CHECK: 
1. I am able to round values to one significant figure

	THE MAIN EVENT 

	WORKED EXAMPLE #1: 
[image: ]


	PRACTICE #1:  

[image: ]

	WORKED EXAMPLE #2:  
[image: ]

	PRACTICE #2: 
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	PRACTICE #3:  
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Learning Objective: 
	To be able to convert recurring decimals to fractions
	Name: 
	

	
	
	Date: 
	

	Do NOW Activity: 
[image: ]

	PRIOR KNOWLEDGE CHECK: 
1. I am able to find the HCF of two numbers

	THE MAIN EVENT 

	WORKED EXAMPLE #1: 
Q1 Use method shown previously i.e. 1/3  would be 1 3
Q2 0.44444… = 4/9          0.525252… = 52/99




	PRACTICE #1:  
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WORKED EXAMPLE #2:  
[image: ]

	PRACTICE #2: 

[image: ]


	PRACTICE #3:  

[image: ]
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Question 4 Work out the answers to the following multiplications

(a) 02x03 (b)) 07x02 () 09x04 (d) 08x06

(&) 07x07  (f) 06x05 (g 08x05 (h) 05x04

(M 08x01  (j) 007x05 (k) 004x02 () 08x007
(m) 006x09 (n) 0.04x0.06 (0) 008x0.03 (p) 002x003
(@ 0003x06 (1) 09x0002 (s) 0.008x0.6 (1) 0005x0.4
(w) 0.007x002 (v) 0008x0.09 (w) 0.04x0.004 (x) 0.005x0.003

(y) 0.008x005 (z) 0.009x0.008

Question5:  Work out the answers to the following multiplications
(A 31x05 (b) 63x03 () 54x07 (d) 92x06
(&) 48x09 (f) 24x32 (g 91x13 () 55x77

M 17x43 (j) 94x49 (K 0.13x07 () 048x03
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Question 1: Regan ispaid £6.70 per hour. He works 8 hours in a week.
Work out how much Regan should be paid.

Question2:  Calculate the output

Input Output

38 {x7 {2
Question3: Calculate the area of the rectangle

19.4cm

8cm

Question 4: A bottle of cola costs £1.29
Calculate the total cost of 6 bottles of cola.
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Expand and simplify 2(a + 3b) - 2(a - 5b)
Solve 3(5a—-4)=-7

Work out £580 + 25

Express 72 as a product of primes

If the nth term is 5n — 15 what is the 10t term
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SO, 2.35 ':- 5 = .41
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Question 1:  Work out

(a) 46+2 () 65+5 () 96+3 (d) 84+4
() 7.2+3 (f) 68+4 (g) 185+5 () 96+8
) 144+6 () 27.9+9 | 91+7 M 365+5
(m) 332+ 4 () 192+3 (0)27.6+6 (p) 424+8

Question 2:  Work out

(a) 3.96+3 (b) 0.75+5 (c) 856+ 4 (d) 0.528+6
(&) 581+7 (f) 0.657+9 (g) 2176 + 8 (h) 0238+7
@ 0119+7  (j) 0.072:6 (K) 2556+ 3 ) 3325+5

(m) 7012+4  (n) 9.927+9 (0) 12,065+ 5 () 0.16024+4
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Question 1:  Work out

() 602 (b) 4+05 () 12+03 (@) 201

(e) 25+ 05 (f) 15+03 (2) 0802 (h) 09+03
(i) 14+02 (j) 306 (k) 14:07 M 24+12
(m) 35+0.5 () 45+ 15 (0) 0.15+05 (p) 072+02
(q) 0.48+ 03 (1) 0.36+ 0.9 (s) 0.048+02 (1) 0095+05
(W) 0.072+06  (v) 1L05+05 (w) 429+ 03 (x) 078407

Question2:  Work out the following
(a) 2+005 (b) 3+0.02 (c) 6+0.03 (d) 12+0.04
(e) 15+ 0.01 () 60+ 0.06 (g) 0.08+0.04  (h) 0.06 +0.02

(i) 0.4+ 005 (j) 0.8+0.02 (K) 027+0.09 (1) 0.28+0.07
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Question 1: A sweet cost £0.04
How many sweets can 1 buy for £207

Question2:  Mia has 20 metres of ribbon.
She is cutting it into pieces that are 0.8m long.
How many 0.8m pieces of ribbon will she have?

Question3:  Yasmin has £17 in five pence pieces.
How many five pence pieces does she have?

Question 4 Find the missing numbers

0.4 x =208

0.7 x =45

Question 5: A teacher is placing textbooks that are 2.5cm thick on a bookshelf.
The teacher wants to place 60 textbooks on the shelf.
The bookshelf is 160cm long.
Does the teacher have enough room on the bookshelf for the textbooks?
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Expand and simplify 4(2a + b) + 2(3a - b)
Solve 4(a-2)=-12

Work out £26.50 x 18

Express 32 as a product of primes

Find the nth term of 1, 4, 7, 10
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Question 1:  Work out an estimate to each of the following

(a) 906+397 (b) 5784720 () 912—114 (d) 4998 —592

(e) 1965—370 (f) 8.31+9.74 (g) 50.6—5.25 (h) 44.34+98.101

Question2: Estimate the answers to the following

@ 21x68 (0 57x72 (9 38x22 (4 41x79

(e)56.2x 11.52 (f) 5.84 x 32.02 (g) 27x304  (n) 195 x 92

() 3625x23 () L79x8311 (k) 4855x53x7.6
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Question 3:  Work out an estimate to each division

(a) 61.2+1013 (b) 59.62+3.93 (c) 687+9.79

(e) 900.41+59.75 (f) 7018.3+5.281 (g) 703

(d) 403.8+2151

9850 314

2.04

Question 4:  Work out estimates to the following

291 + 602 8019
(@ 2L+002 ) o
102 711 — 508
132 + 291 3890
@ 221 ©
31—-12 9.8 x 51

()

O]

)

386 O 2008

7.14 4 16.88
10.96 —4.85

42 x 194
103 x 7.8
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A roll of wallpaper cost £7.85.
Richard buys 29 rolls of wallpaper:
Work out an estimate for the total cost.

The scientist Robert Boyle was bornin 1627.
Work out an estimate for how many years ago he was born.

Estimate the total cost of 32 printers at £198 each and 58 ink cartridges at
£31.15 each.

In a cinema there are 28 rows and in each row there are 22 seats.
Each ticket costs £8.10

Work out an estimate for the total income from the ticket sales.
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Expand and simplify (x+3)(x +6)
Factorise 16x + 6

Factorise x? + 3x + 2

Make x the subject y=mx +c

Work out 28 + 0.5
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Question 1:  Use division to convert these fractions to recurring decimals.

12 4 7 s
W3 B3 ©F @75 @ O

3 8 5 1 1 6
2 wd o gl wl ol
¥ 1 5 O m 7 30 7
Question2: Convert the following recurring decimals to fractions.

Give each answer in its simplest form.

(a) 0.5555... (b) 0.1111... (© 0.121212...
(d) 0363636... (e) 0.919191... (f) 0727272...

(g) 0.125125... (h) 0.621621... (i) 0204204...
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Question3: Convert the following recurring decimals to fractions.
Give each answer in its simplest form.

@ 02 ® 08 @ 018
@ 053 © 075 ® 0463
© 0112 ® 0339 ® 0171

Question 4 Convert the following recurring decimals to fractions.
b o
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Question3:  Arrange in order from smallest to largest.

61 3 N 19
30 0178 3~ 110

Question 4 Markis converting (). 257 intoa fraction.

Can you spot any mistakes?

x=0.251
x=0.2515151...

10x = 2.515151...
100x =251.515151...
90x = 249

249
x=—
20
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Expand and simplify 5(3a - 2b) - 2(3a + 5b)
Solve 2(4a-3)=-2

Work out £372 +24

Express 90 as a product of primes

Find the nth term of 1, 6, 11, 16,
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~

Multiplying Decimals

Multiply like whole numbers.

Count decimal places in the problem.
Put the same number of places behind
the decimal in the product.

234 2 decimal places

x 1.2 + 1 decimal place

2808 3 decimal places
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Question 1:  Work out the answers to the following multiplications
(@ 12x4 () 32x3 @ 532 @ 73x3
(9 16x4 () 29x5 @ 42%6 M 95x7

@M 67x8 M 38x9 ® 128x3 @) 243x4
(m 375x6 () S28x7  (0) 1732x3 (p) 2158%6
(@ 12487x9 () 795x8

Question 2:  Work out the answers to the foll owing multiplications

(@ 126x2 () 263x3 () S514x3  (d) 628x4
(¢ 753x5  (F) 038x8 (9 962x6 () 1238%7
@ le42x9 () 10934x4 () 908x3 () 1204x7
(m) 0383x3 () 142x6 (o) 8291x3 (p) 9.623%5
(@ 3706x8 () 4953x7 (9 0482x8 (9 0.085x7
() 13842x3 () 43342x6 (w) B2039x5 (9 7.3112x9
(y) 51283x6 () 293421x4
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